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Part -1

What is the volume of the figure [4 Marks]

Vv=0L¥WkH
:2_,*2)“‘/
=24

12 cubic units B 26 cubic units 24 cubic units 30 cubic units

What is the volume of the figure [4 Marks]

\V - &"H
:’SOXL’
- 120

34 cubic in BM 120 cubic in C 15 cubic in 60 cubic in

Which number round to 5.3 when rounded to the nearest tenths? [4 Marks]

5.29%® 5.%

5.38 5.23 5.16 DM 5.25

What is a reasonable estimate for [4 Marks]

589 +10722 = GG +107c (6

58 + 107 = 165 59 + 108 = 167 CM 59 + 107 = 166 58 + 108 = 166

Subtract [4 Marks]

0.31-0.07 =

0.37
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Write the addition equation represented by the decimal grids [4 Marks]

0«70 +0:6%3 =123

0.70 + 0.53 =1.23 0.70 + 0.50 =1.20 0.70 + 0.32 =1.03 0.70 + 0.63
=1.33

What iz the product? [4 Marks]
|
327
X 6

1962

aM

1,962

There are 18,000 envelopes in packs of 60. How many packs of envelopes are

there? O Od) _:_@¢ - 30 0 [4 Marks]

2,000 D

Which expression or value is equivalent to 104 [4 Marks]

IOL'—_ loxloX [0 ¥|O

10x 4 C 10x10x10x 10 10+10+10+10

What is the product of [4 Marks]

7.6 x10° - ‘7600.0

A

7,600
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Solve for m:

..ig)'?i)@(lox L)

1|2?_—‘z',<— (3 xul)
=060

(o]

53341 =m
m x 41 =533

[4 Marks]

lo+3> =13

m =33 m =28 C m =23

oM

m=13

Which equation represents the best estimate for

Loox30=12000

o~

[4 Marks]

300 x 20 = 6,000 400 x 30 = 12,000 300 x 30 = 9,000

s

400 x 20 = 8,000

Which of the following statements is irue?

[4 Marks]

0.002 is 10 times 0.02

0.02is % of 0.002

0.02 is 10 times 0.002

0:02

|O-;€O~OOZ

2is — of 0.2
10

What is the product of

23x89 = Jo-47

204.7 20.47 2.047

sl

2,047

Which of the following situations measure the volume?

[4 Marks]

The distance around a building

The space inside a moving truck

The amount of wall space covered by a poster.

The distance of a bike ride
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Part - 2

Decompose by place value to subtract. show your work? [8 Marks]
(a) 8.57-2.4

8.57-2=_6.57

657 -04=_ 617

857-24=_6.17

(b) 5.70 — 2.08
570-2=_ 3.70
370 -0.08=_3.62

570-2.08= 3.62_

(a) Write the following number in standard form and expanded form.
[4 Marks]

“Ninety-three and six thousandths”

Standard form: ___ 93.006

90 + 3+ 0.006
Expanded form: or
90+3+_ 6

1000

(b) Compare the following decimal numbers using (<, >, =) [3 Marks]

(i) 6.55 @ 5.66
(ii) 3.41 @ 3.41
(iii)) 2.563 @ 2,573
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(a) Each bottle holds the same amount. How much water can these bottles
holds? [3 Marks]

.-i)'-‘j il )

2
175 T3
1.75 X3

+1.75 . .
5.25 Liter G.265 Lluters

(b) Tonya cuts 0.4 meter of ribbon for each gift she wraps. She wraps 6 gifts.
How much ribbon does Tonya use? [4 Marks]

0.4 x 6 = 2.4 meter

Fill in the area model and use partial products to find 38 x 63 [8 Marks]
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(a)What is the volume of the composite figure given below. Show your work.
[6 Marks]

ém

SM  v=LxWxH
=2x4x5 10m
4

Om

V=V.+ V,=240+40=280m

(b) A freezer, shaped like a rectangular prism, is 6 feet long, 2 feet wide, and
3 feet tall. What is the vo/ume of the freezer? [4 Marks]

Wz2 H=3
\| = waXH

- 67:2.7(;

_ 26 cubic Fed

L= 6
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